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1. Letfix)= —,x#0.
X
—_— ‘1 —
(@)  Sketch the graph of 1. [z
@
|
2
The graph of fis transformed to the graph of g by a translation of (J :
. : | —— + 3
(b) Find an expression for g(x). %( x) = x-2
@
-\ \ \
(05 = — &8 = ;) = 27 %-:
(¢) (i) Find the intercepts of g. % = 3 RS & 3 =
- g . “~3x=-5
(ii) Write down the equations of the asymptotes of g. y= 73 S 73
(iif) ~ Sketch the graph of g. x=2a
) (10)
\ E"’ - (Total 14 marks)
2. The function £ (x) is defined as f(x) =3 + ——,x # 2
2x-5 2
(a)  Sketch the curve of f for —5 < x < 5, showing the asymptotes. I ’t’ =3
2AX~5=0 — &)
X= 5/:: o
(b) Using your sketch, write down
(i)  the equation of each asymptote; =3, x=2.5 ;
— X-' 2 -S-
(ii) the value of the x-intercept; Lj =233
(iii) the value of the y-intercept. 2.9 = 9
C))
(Total 7 marks)
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3. Letf(x)= p- where p, ge¢ R,

3
- g’

Part of the graph of £, including the asymptotes, is shown below.

(a) The equations of the asymptotes are x =1, x = —1, y = 2. Write down the value of
® » A

) 41 swmee  (x2-12) = x21 = (xe)(x-1) :
2

(Total 2 marks)

4. (a) The diagram shows part of the graph of the function f(x) = — 9 Thecurve passes through the
X—p

point A (3, 10). The line (CD) is an asymptote.
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Find the value of
@ p 2 6= 3-2
(i) g. 1O
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(b)

The graph of £ (x) is transformed as shown in the following diagram. The point A is transformed to
A’ (3,-10).

i

)
E3

Give a full geometric description of the transformation. ety cal NL L.e(}—‘\c)ﬁ

D055 ‘hae x'aMs(TotaMmarks)

5. The function f'is given by

fx)= %C—xj—;,xe R, x#3.

! . o nom s
(@ (i) Show thaty=2 is an asymptote of the graph of y = f (x). Since e deﬂw‘ a5 J"‘;\"
hociz asgm at 2‘-1—- A y=2
(ii)  Find the vertical asymptote of the graph.
ime )
(iii) Write down the coordinates of the point P at which the asymptotes intersect.
(3,2) )
s 1
(b) Find the points of intersection of the graph and the axesd=C oY= (%9:_)%" 2
“
x: o=2x+! ‘
(c)  Hence sketch the graph of y = f(x), showing the asymptotes by dotted lines. Y%= ‘35
“
1 v (T
_'\T \
Oy _-—:|§\"‘ TLB,:)' N G 3.’-2
€ b (Total 12 marks)
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